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* AR—EX Series FIJ/F &Y
AR—EX300 300Kg 100g 1000+1000+90 600+800 1/3,000 5,386,000
AR—EX500 500Kg 200g 1000=1000=90 600+800 1/2,500 5,386,000
AR—EX1000 1000Kg 500g 1000+1000+90 600+800 1/2,000 5,386,000
AR—EX1500 1500Kg 500g 1000=1000~90 600+800 1/3,000 5,539,000
AR—EX2000 2000Kg 500g 1000+1000%90 600+800 1/4,000 5,693,000
* ARB—EX Series T /EXE
ARB-EX300 300Kg 100g 1000+1000+90 750+800 1/3,000 5,386,000
ARB—-EX500 500Kg 200g 1000=1000~90 750+800 1/2,500 5,386,000
ARB—EX1000 1000Kg 500g 1000+1000+90 750+800 1/2,000 5,386,000
ARB—-EX1500 1500Kg 500g 1000=1000%90 750+800 1/3,000 5,539,000
ARB—-EX2000 2000Kg 500g 1000+=1000+90 750+800 1/4,000 5,693,000
= ARS—EX Series T /Z &8 All Stainless Steel (SUS034) 2=4 X &

ARS—-EX300 300Kg 100g 1000%1000+90 600+800 1/3,000
ARS—EX500 500Kg 200g 1000+1000+90 600+800 1/2,500
ARS—EX1000 1000Kg 500g 1000%1000+90 600+800 1/2,000
ARS—-EX1500 1500Kg 500g 1000=1000%90 600+800 1/3,000
ARS—EX2000 2000Kg 500g 1000+1000+90 600+800 1/4,000
* ARSB—EX Series ®l/FZE All Stainless Steel (SUS034) 2E=4 Z &
ARSB-EX300 300Kg 100g 1000=1000%90 750+800 1/3,000
ARSB—-EX500 500Kg 200g 1000+1000+90 750+800 1/2,500
ARSB-EX1000 1000Kg 500g 1000+1000+90 750+800 1/2,000
ARSB—-EX1500 1500Kg 500g 1000=1000~90 750+800 1/3,000
ARSB-EX2000 2000Kg 500g 1000+1000%90 750+800 1/4,000
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Option HEAH X1 182,000
SUS304 ZEA| 182,000
ABHE (Steel) D EE ki ] 50¢ * 1200mm(H)
ABHE (Steel) 0| 5E [ 50¢ = 1200mm(H)
AEHE (Stainless) D E 17d 50¢ * 1200mm(H)
2B E(Stainless) 0| S8 i 50¢ * 1200mm(H)
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